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QUESTION 1

Which of the following best describes the reason for CPU pinning?

A. To ensure that a VM is assigned to high performance CPU cores.

B. To ensure that a VM\\'s CPU cores area all allocated on the same NUMA node.
C. To ensure that a VM is assigned to a compute node with adequate resources.
D. To ensure that a VM is assigned a sufficient number of CPU cores.

Correct Answer: A

QUESTION 2

Which of the following is correct about CMM system overall health check?

A. The "fns_monitor" command is only available at the NECC VM.

B. The "cmm_monitor" command is used to run the complete set of health checks for a specific CMM VM.
C. The "ecmm_monitor" command can be manually executed on any CMM VM.

D. The "fns_monitor" and "cmm_monitor" commands require superuser privilege.

Correct Answer: D

QUESTION 3

Which of the following describes the 2N model for VM redundancy?

A. There is one active VM and one standby VM that takes over if the active VM fails.

B. Thera are N active VMs and a pool of standby VMs that can take over if one or more active VMs fail.
C. There are N active VMs, each one paired with a standby VM that takes over if its active VM fails.

D. There are 2N active VMs deployed to support a service that needs N active VMs, with extra capacity in case one or
more VMs fail.

Correct Answer: C

QUESTION 4
Which of the following statements regarding CMM deployment is FALSE?

A. Hyperthreading and CPU pinning are enabled.
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B. An anti-affinity rule is used to ensure NECC VMs are deployed on different servers.
C. Two availability zones are required for a successful CMM deployment.
D. SR-IOV and DPDK are used to accelerate packet processing.

Correct Answer: D

QUESTION 5

The following statements describe requirements to configure CPU pinning in OpenStack. Which statement is FALSE?
A. The user specifies the compute node to be used for the VM to ensure that it supports CPU pinning.

B. A host aggregate is configured to specify the compute nodes to be used for CPU pinning.

C. A flavor is defined that supports CPU pinning.

D. Compute nodes must be configured so that Linux processes do not run on cores reserved for VMs.

Correct Answer: D
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